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M?2C3 Project — Abuelo’s
Birthday Student Work

The following provides Grade 3, 4, and 5 solutions for the Abuelo’s
Birthday Task. The two slides at the end of this document provide a

sample solution path graphic organizer and teacher reactions to student
solutions.



Making Sense of the Task:

Group Brainstorm
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Factors that Students Considered

 How much time do they need?
 Should all siblings contribute money for the same amount of time?
* Should we consider money saved, or just weekly earnings?

* Should siblings give all of their weekly earning for the present, or a
portion of their weekly earnings?

* Do we need to consider/include tax?

Connections to Students’ Experiences

» Sharing responsibilities and jobs, everyone contributes, no one is left out
* Nuanced understandings about fairness
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4th
grade

Each sibling
contributes 3 weeks
of earnings,.

This is not enough
money, so the older
siblings each
contribute more from
their savings, with the
siblings who earn
more contributing
more.

The youngest sibling
contributes all her
savings.




4th
grade

Each sibling
contributes 2
weeks of
earnings, plus
the same
amount from
their savings.

The youngest
sibling
contributes
half of her
savings (54 for
tax).
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Structure for Recording/Reporting Solutions

Assumptions:
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How could you use your plan in g different situation?
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Teacher Reflections

* “Students had plenty of experiences saving up to buy something
important” -- 4t grade teacher

* “All kids were excited and actually engaged for the entire session” --
3'd grade teacher

e “Students wanted to alter the conditions of the task and make Jaden
get a job” -- 5t grade

* “Students that don’t participate regularly participate in these
modeling tasks. They want to share their ideas and perspectives and
they have a lot of say about fairness” -- 4t grade teacher



